
4
" 
N
P
T

4
" 
N
P
T

© Copyright KLAW PRODUCTS LTD (2011)

This document is given in confidence 
and may not be used for any purpose 
other than that for which it is supplied 
nor shall any part of it be reproduced or 
copied without prior written consent of 
'KLAW PRODUCTS LTD'.
Unless 'KLAW PRODUCTS LTD', has 
accepted a contractual obligation in 
respect of the permitted use of the 
information and data contained herein, 
such information and data is provided 
without responsibility and 'KLAW 
PRODUCTS LTD'. disclaim all liability 
arising from its use. CUSTOMER ASSEMBLY DRAWING

6

D

C

B

A

E

F

G

H

E

A

B

C

D

F

54321 7 8 9 10 11 12

1 2 3 4 5

G

A

4" MARINE GENERAL ASSEMBLY

KM040SSZVVU030ABSCT6

20/09/2011

20/09/2011

20/09/2011AW

DM

MW

WEIGHT: 13.32Kg

A2SCALE:1:2

DWG NO.

TITLE:

REVISION

DO NOT SCALE DRAWING

DATENAME

www.klawproducts.com

DIMENSIONS ARE IN MILLIMETRES

APPV'D

CHK'D

DRAWN

UNLESS OTHERWISE SPECIFIED:KLAW PRODUCTS LTD

PARTS\COUPLINGS\4\KM040SSZVVU030ABSCT6\
C:\wip\NEW 
LOCATION:

WILTSHIRE, BA13 4LS, ENGLAND

3RD ANGLE PROJECTIONUNIT 1B-2, COMMERCE BUSINESS CENTRE
WEST WILTS TRADING ESTATE, WESTBURY

SHEET 1OF 1

DM

TOTAL BREAKLOAD 30KN

MW20/09/2011NEW ISSUEA

ECNCHECKEDINITIALDATEDESCRIPTIONREV.

REVISIONS ITEM NO. PART NUMBER DESCRIPTION Material QTY.
1 K040MMHP001 4" MARINE MALE HOUSING Stainless Steel 316L 1
2 K040DBK002 4" DOUBLE BRACKET (MACHINING) Stainless Steel 316L 2
3 K040PBK002 4" PIVOT BLOCK Stainless Steel 316L 2
4 K040TWR001 4" THRUST WASHER Stainless Steel 316L 4
5 K040PPN001.1 4" PIVOT PIN  PART B Nitronic 60 2
6 K040PPN001.2 4" PIVOT PIN  PART C Stainless Steel 316L 2
7 K040FLP001 4" FLAP Stainless Steel 316L 2
8 K040SLP001 4" SLIDE PIN Nitronic 60 2
9 K040CSG002 4" COMPRESSION SPRING Stainless Steel 302 2
10 K040DTS001 4" DOUBLE TORSION SPRING Stainless Steel 17/7PH 2
11 3.5SSP001 3.5 x 25 SLOTTED SPRING PIN Stainless Steel 304 A2 4
12 2SSP002 2 x 25 SLOTTED SPRING PIN Stainless Steel 304 A2 4
13 M4HEX001 M4 x 6 HEX HEAD DOG POINT SCREW Stainless Steel 316 A4 2
14 M10BRS002 M10 BASE BREAKSTUD - 10KN Stainless Steel 303 3
15 M8PLN001 M8 PLAIN NUT Stainless Steel 316 A4 3
16 M8NYN001 M8 NYLOC NUT Stainless Steel 316 A4 3
17 M8SWH001 M8 SCHNORR WASHER Stainless Steel 304 A2 3
18 8DWL001 8 x 36 DOWEL Stainless Steel 316L 3
19 K040ORG004 4" BODY SEAL Viton 1
20 K040ORG008 4" SEAT SEAL Viton 2
21 K040MFHP001 4" MARINE FEMALE HOUSING Stainless Steel 316L 1
22 1-8RSP001 1/8" BSP RESET PLUG Stainless Steel 316L 2
23 1-8RSW001 1/8" BSP PTFE RESET WASHER Stainless Steel 316L/PTFE 2
24 K040RSS001 4" RESET SCREW Stainless Steel 316L 2
25 K040RSH001 4" RESET SCREW HOLDER Nylon 66 2

10

11 12 23

4

5

6

7

25

24

164

A

A

B

B

C

C

913 1920

SCALE 1 : 1
SECTION A-A 

1 8 2221 23

284 ±2

SCRAP SECTION
THRO' C~C

1815

16

THRO' B~B
SCRAP SECTION

1417

nikita.mohammed
Typewritten Text
AVAILABLE IN IRP STOCK: 45kN BREAKLOAD
OTHER OPTIONS CAN BE CUSTOM ORDERED UPON REQUEST

nikita.mohammed
Typewritten Text

nikita.mohammed
Typewritten Text

nikita.mohammed
Typewritten Text

nikita.mohammed
Typewritten Text

nikita.mohammed
Typewritten Text




